
MATHS

BOOKS - MAXIMUM PUBLICATION

LINEAR INEQUALITIES

Example

1. Solve the following inequalities. 

Watch Video Solution

4x + 3 < 5x + 7

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_pT4swz6TdxqW


2. Solve the following inequalities. 

Watch Video Solution

3(x − 1) ≤ 2(x − 3)

3. Solve the inequalities

.

Watch Video Solution

≤
3(x − 2)

5

5(2 − x)

3

https://dl.doubtnut.com/l/_pT4swz6TdxqW
https://dl.doubtnut.com/l/_v9xa4NaCQ4lz
https://dl.doubtnut.com/l/_kHxEeny8QVrJ


4. Show the solution of each inequality on a

number line. 

Watch Video Solution

4x + 3 < 6x + 7

5. Show the solution of each inequality on a

number line. 

Watch Video Solution

5x − 3 ≥ 3x − 5

https://dl.doubtnut.com/l/_kSyYJ5VeAx4f
https://dl.doubtnut.com/l/_gVS2gJiPmBGt
https://dl.doubtnut.com/l/_shAhE7LOS35k


6. Show the solution of each inequality on a

number line. 

Watch Video Solution

3(1 − x) < 2(x + 4)

7. Show the solution of each inequality on a

number line. 

Watch Video Solution

2 − 3x < 2(x + 6)

https://dl.doubtnut.com/l/_shAhE7LOS35k
https://dl.doubtnut.com/l/_GHnPOhtDGiFR
https://dl.doubtnut.com/l/_VQB2Tkk1VrRJ


8. Show the solution of each inequality on a

number line. 

Watch Video Solution

−3 ≤ 3 − 2x < 6

9. The marks obtained by a student of class XI

in first and second terminal examination are

62 and 48, respectively. Find the minimum

marks he should get in the annual

examination to have an average of at least 60

marks.

https://dl.doubtnut.com/l/_VQB2Tkk1VrRJ
https://dl.doubtnut.com/l/_eBtEh90qIyud


Watch Video Solution

10. Solve the following inequalities. 

Watch Video Solution

( + 4) ≥ (x − 6)
1

2

3x

5

1

3

11. Solve the following inequalities. 

Watch Video Solution

( ) ≥ −
2x − 1

3

(3x − 2)

4

(2 − x)

5

https://dl.doubtnut.com/l/_eBtEh90qIyud
https://dl.doubtnut.com/l/_m1QkbzMxS9Z0
https://dl.doubtnut.com/l/_ofpFFAVrgG4D
https://dl.doubtnut.com/l/_IP1bXdTEOdcv


12. Which of the following sets of inequality

represent the second quadrant?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x < 0, y < 0

x > 0, y > 0

x < 0, y > 0

x > 0, y < 0

https://dl.doubtnut.com/l/_IP1bXdTEOdcv


13. Find all pairs of consecutive even positive

integers both of which are smaller than 10

such that their sum is less than 23.

Watch Video Solution

14. The longest side of a triangle is 3 times the

shortest side and the third side is 2 cm

shorter than the longest side. if the perimeter

of the triangle is at least 61 cm, find the

minimum length of the shortest side.

https://dl.doubtnut.com/l/_rR63rVMVlgpX
https://dl.doubtnut.com/l/_WywsmoKrkzxi


Watch Video Solution

15. Solve the following system of inequalities

graphically. 

Watch Video Solution

2x − y > 1, x − 2y ← 1

16. Solve the following system of inequalities

graphically. 

Watch Video Solution

x + y ≤ 9, y > x, x ≥ 0

https://dl.doubtnut.com/l/_WywsmoKrkzxi
https://dl.doubtnut.com/l/_xfyaREtjYOqq
https://dl.doubtnut.com/l/_akCTd9lq3Qp3


17. Solve the following system of inequalities

graphically. 

Watch Video Solution

x − 2y ≤ 3, 3x + 4y ≥ 12, x ≥ 0, y ≥ 1

18. Solve the following system of inequalities

graphically. 

Watch Video Solution

2x + y − 3 ≥ 0, x − 2y + 1 ≥ 0, y ≤ 3

https://dl.doubtnut.com/l/_akCTd9lq3Qp3
https://dl.doubtnut.com/l/_E7YYS3GFQsxk
https://dl.doubtnut.com/l/_daAYC0j4uXzG


19. Draw the graphs of  and 

Watch Video Solution

2x + 3y = 24

x + y = 9

20. Solve the following system of inequalities

graphically 

.

Watch Video Solution

2x + 3y ≤ 24, x + y ≤ 9, x, y ≥ 0

https://dl.doubtnut.com/l/_daAYC0j4uXzG
https://dl.doubtnut.com/l/_SeKvLqsXf8iP
https://dl.doubtnut.com/l/_E4jyZvFNJlEm
https://dl.doubtnut.com/l/_5objOsUYdEKa


21. Solve , when x is a real number.

Watch Video Solution

4x − 5 < 7

22. Solve the following system of inequalities 

graphically. 

Watch Video Solution

3x + 4y ≤ 12, x ≥ 0, y ≥ 0

23. Solve:  represent the

solution on the real line.

Watch Video Solution

4x + 3 < 3x + 7

https://dl.doubtnut.com/l/_5objOsUYdEKa
https://dl.doubtnut.com/l/_hNjPTZtGGwHH
https://dl.doubtnut.com/l/_s1iImZCIVrgw


24. Solve the following system of inequalities

graphically. 

Watch Video Solution

3x + 2y ≤ 12, x, y ≥ 0

25. represent the inequality  on a

number line.

Watch Video Solution

x ≻ 3

https://dl.doubtnut.com/l/_s1iImZCIVrgw
https://dl.doubtnut.com/l/_kuDXnstX7h6K
https://dl.doubtnut.com/l/_Ilwi786ShqjT


26. Solve the following inequalities graphically:

Watch Video Solution

x + y ≥ 5, x − y ≤ 3

27. The interval representing the solution of

the inequality  is ......

A. 

B. 

C. 

3x − 1 ≥ 5, x ⊂ R

[5, ∞)

[2, ∞)

[3, ∞)

https://dl.doubtnut.com/l/_IrsDfizzQGKy
https://dl.doubtnut.com/l/_7AcKcdqNC5pq


D. 

Answer: B

Watch Video Solution

( − ∞, ∞)

28. Solve the system of inequality graphically 

Watch Video Solution

x + 2y ≤ 8, 2x + y ≤ 8, x ≥ 0, y ≥ 0

https://dl.doubtnut.com/l/_7AcKcdqNC5pq
https://dl.doubtnut.com/l/_vjgPUcm4C7JI


29. Which among the following is the interval

corresponding to the inequality .

A. [-2,3]

B. [-2,3)

C. (-2,3]

D. (-2,3)

Answer: C

Watch Video Solution

−2 < x ≤ 3

https://dl.doubtnut.com/l/_eU944lpZaME9
https://dl.doubtnut.com/l/_JYxG5Hm0TAGr


30. Solve the following equation. 

.

Watch Video Solution

2x + y ≥ 4, x + y ≤ 3, 2x − 3y ≤ 6

31. which among the following inequality

represents the intervals`[2,oo)

A. 

B. 

C. 

D. 

x − 3 ≥ 5, x ∈ R

3x − 3 ≥ 5, x ∈ R

3x − 1 ≥ 3, x ∈ R

3x − 1 ≥ 5, x ∈ R

https://dl.doubtnut.com/l/_JYxG5Hm0TAGr
https://dl.doubtnut.com/l/_uG78JvviG958


Answer: D

Watch Video Solution

32. Solve the following system of inequalities

graphically. 

Watch Video Solution

3x + 2y ≤ 12, x ≥ 1, y ≥ 2

33. Solve the inequality .3(x − 1) ≤ 2(x − 3)

https://dl.doubtnut.com/l/_uG78JvviG958
https://dl.doubtnut.com/l/_YTf6bFNyASDS
https://dl.doubtnut.com/l/_KkZfLJJWEd1b


Watch Video Solution

34. Solve the following system of inequalities

graphically. 

Watch Video Solution

5x + 4y ≤ 20, x ≥ 1, y ≥ 2

35. Arathi took 3 examinations in an year. The

marks obtained by her in the second and third

examinations are more than 5 and 10

respectively than in the first examination. If

her average mark is at least 80 find the

https://dl.doubtnut.com/l/_KkZfLJJWEd1b
https://dl.doubtnut.com/l/_YwYH3RLmoLuf
https://dl.doubtnut.com/l/_7qnDPJOVFncI


minimum mark that she should get in the first

examination?

Watch Video Solution

36. Solve the following system of inequalities

graphically .

Watch Video Solution

2x + y ≥ 6, 3x + 4y ≤ 12

37. Solve the inequality 

2(2x + 3) − 10 < 6(x − 2)

https://dl.doubtnut.com/l/_7qnDPJOVFncI
https://dl.doubtnut.com/l/_NWeHYrYofwno
https://dl.doubtnut.com/l/_gS6rQxxtN9yE


Watch Video Solution

38. Solve the following system of inequalities

graphically. 

Watch Video Solution

x − 2y ≤ 3, 3x + 4y ≥ 12, x, y ≥ 0

39. Find all pairs of consecutive odd natural

numbers, both of which are smaller than 10,

such that their sum is more than 11.

https://dl.doubtnut.com/l/_gS6rQxxtN9yE
https://dl.doubtnut.com/l/_Yv98XS4nd9Me
https://dl.doubtnut.com/l/_YMIngt3QmxMI


Watch Video Solution

40. Solve  graphically.

Watch Video Solution

2x + y ≥ 6

41. Solve the inequality: .

Watch Video Solution

3(2 − x) ≥ 2(1 − x)

https://dl.doubtnut.com/l/_YMIngt3QmxMI
https://dl.doubtnut.com/l/_g38kMGa97bxD
https://dl.doubtnut.com/l/_v4s00P7IkojO


42. Solve the following system of inequalities

graphically. 

.

Watch Video Solution

2x + y ≥ 4, x + y ≤ 3, 2x − 3y ≤ 6

43. Solve: .

Watch Video Solution

5x − 3 < 3x + 1

https://dl.doubtnut.com/l/_UQIBsrJILYCG
https://dl.doubtnut.com/l/_fTqypRQNJwL5


44. Solve the following system of inequality

graphically. 

.

Watch Video Solution

x + 2y ≤ 8, 2x + y ≤ 8, x, y ≥ 0

45. Raju obtained 70 and 60 marks in first two

examinations. Find the minimum mark he

should get in the third examination to have an

average of atleast 50 marks.

Watch Video Solution

https://dl.doubtnut.com/l/_63RzMQQO6W9K
https://dl.doubtnut.com/l/_moCNADUm5dxc


46. Solve the following system of inequalities

graphically. 

.

Watch Video Solution

3x + 2y ≤ 12, x ≥ 1, y ≥ 2

47. Solve:  represent the

solution on the real line.

Watch Video Solution

5x + 3 < 2x + 7

https://dl.doubtnut.com/l/_moCNADUm5dxc
https://dl.doubtnut.com/l/_G9VfFrJT3BHt
https://dl.doubtnut.com/l/_MC3wLX4kuVXX
https://dl.doubtnut.com/l/_i4VBDRJQIYub


48. Solve the following system of inequality

graphically. 

.

Watch Video Solution

x + 2y ≤ 8, 2x + y ≤ 8, x, y ≥ 0

49. Solve:  represent the

solution on the real line.

Watch Video Solution

7x + 3 < 5x + 9

https://dl.doubtnut.com/l/_i4VBDRJQIYub
https://dl.doubtnut.com/l/_CE2729ZF1dtT


50. Solve the following system of inequality

graphically. 

.

Watch Video Solution

x + 2y ≤ 8, 2x + y ≤ 8, x, y ≥ 0

51. Solve .

Watch Video Solution

10x − 23 < 3x + 5

https://dl.doubtnut.com/l/_AIcVBIvrv5Vz
https://dl.doubtnut.com/l/_hsfTsqlK8znl


52. Solve the following system of inequalities

graphically: 

.

Watch Video Solution

3x + 5y ≤ 15, 5x + 2y ≤ 10, x, y ≥ 0

53. Solve, . express

the solution on a number line.

Watch Video Solution

7x + 3 < 5x + 9, x ∈ R

https://dl.doubtnut.com/l/_5rptKpO3mhYU
https://dl.doubtnut.com/l/_379FSi9crk6t


54. Solve graphically, 

.

Watch Video Solution

3x + 4y ≤ 60, x + 3y ≤ 30, x, y ≥ 0

55. Solve the inequality .

Watch Video Solution

> + 1
x

3

x

2

56. Solve the system of inequality graphically 

.2x + y > 6, 3x + 4y ≤ 12

https://dl.doubtnut.com/l/_FC52fZCbQhUF
https://dl.doubtnut.com/l/_WoGcWhqQveab
https://dl.doubtnut.com/l/_vFABl9Rnqzqw


Watch Video Solution

https://dl.doubtnut.com/l/_vFABl9Rnqzqw

